
スーサ数学文書No. 24の解読について

河合塾文理 室井 和男 (Kazuo MUROI)

\S 1. バビロニア数学の 「穴掘り問題」
バビロニア数学には、井戸、貯水池、運河 (の一部分) 、地下貯蔵庫などの体積、
そしてある建物の基底部として地面に掘った穴の体積を扱う一群の問題があ
る。これらの 「穴掘り問題 (excavati on problems ) 」 の数学的内容は比較的
易しいが、内容が完全に理解されたとは言い難い問題もある。その原因は二つ
ある。一つは、いくつかの術語、特に何らかの立体図形に関係すると思ゎれる
ものの意味が不明であることであり、二っ目は、書き誤りと計算ミスが解釈を
困難にしていることである。スーサ数学文書 No. 24 (裏面が未解読) は、これ
らの穴掘り問題に属するものであり、後で見るように、その数学的内容はこの
種の中では最も複雑なものと言ってよい。 (一般に、スーサ数学文書の数学的
内容はバビロニア数学の中では高い方である) この No. 24を解読するために
は、いくつかの術語の意味を明確にしておかねばならない。

\S 2. 特徴的な表現と術語
以下において、$x,$ $r,$ $z$をそれぞれ長さ、幅そして深さとする。長さと幅の単位は

$\mathrm{n}$ indan $(1$ $\mathrm{n}\mathrm{i}\mathrm{n}\mathrm{d}\mathrm{a}\mathrm{n}$ $\fallingdotseq 6\mathrm{m})$

、深さの単位は k\‘u\v{s}である (1 $\mathrm{k}\text{\‘{u}}\text{\v{s}}=1/12\mathrm{n}\mathrm{i}$ ndan $\fallingdotseq 50\mathrm{c}\mathrm{m}$)
。

(1) 頻出の関係式 $z=12(x-\mathrm{y})$

例:BM $85200+\mathrm{V}\mathrm{A}\mathrm{T}$ 6599, No. 14, 1ine 1
$\mathrm{r}a$ -la igi $\mathrm{u}\mathrm{g}$ [ul $\mathrm{i}\mathrm{g}\mathrm{i}$ -bi $\mathrm{d}\mathrm{i}$ [rigl GAM-ma
“長さ (ここでは $\mathrm{u}\text{\v{s}}$ではな $\text{く}\mathrm{i}\mathrm{g}\mathrm{i}$ で示されてぃる) が幅 (ここでは
sagではな $\text{く}\mathrm{i}$ gi-b $\mathrm{i}$で示されてぃる) を超過した分が深さ (GA&I. お
そらく誤用) である”

(2) $\mathrm{k}$ i-l\’a と kalakkum
シュメール語 $\mathrm{k}\mathrm{i}-\mathrm{l}\acute{\mathrm{a}}_{\text{、}}$ $\mathrm{k}\mathrm{a}$ -l\’aA りアッヵド語 kalakkur ができた。意味は “

穴掘り、貯蔵庫” であるが、数学文書では、地面に掘られた直方体という
意味で使われている。これに関連して. YBC 8588の中に見られる次の未解
決の語句を明らかにしておく。

i-na $i$ l-te-en ka-la-ak-ki-in
9ka-la-ak-ku “あるーっの直方体の中に 9っの直方体 (がある) ”

バビロニア人は、このような表現で V=9vを表したのである。同様な表現
は、BW85194にも見られる。

8i-na1,36 $\text{\v{s}} \mathrm{e}$ -gur $i-ba-li-i$
“大麦 1, 36 $\mathrm{g}\mathrm{u}\mathrm{r}$の中に 8, 0, 0( $\mathrm{s}11\mathrm{a}$の大麦) がある” っまり

1, 36 $\mathrm{g}\mathrm{u}\mathrm{r}=8,0,0\mathrm{S}$ \‘i 1 $\mathrm{a}_{\text{。}}1\mathrm{s}$ Ilaは約 1 で 1 $\mathrm{g}\mathrm{u}\mathrm{r}=5,0$ s\‘i la。
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(3) la 1 $\overline{a}\mathrm{f}$ ulと $\zeta$ uppu 1um
これらのアッカド語の動詞の意味は、それぞれ $”\sim$ に切れ目を入れる、

$\sim$ を裂く、$\sim$ を切る” と $u\sim$ を深くする、$\sim$ を掘る” である。数学文書で
は、前者は運河の側面を削り取って幅を広げるときに使われている。
後者は垂直に穴を掘る場合に使われている.

(4) $lal\overline{a}ller\overline{l}t1l\bullet$ ”133} $g$) $1$
’

1/13は、方程式によく出てくる数値であり、しばしば $\mathrm{i}\mathrm{g}\mathrm{i}-13$ -g\’a 1, l $3-tu$な

どと書かれるが、音節文字のみで書かれることもある。スーサ数学文書

No. 24では

13 \mbox{\boldmath $\zeta$}\‘a-la-l\’e-ra-ti $u$ 13分の 1(という分数の分母の) 13”
という表現で用いられている.今まで読めなかったこの箇所が、私にとっ
て、解読の重要な手掛かりとなった.

\S 3. スーサ数学文書 No. 24、裏面、の数学的解釈
次の連立方程式が解かれている.

$x-\mathrm{y}=0:10$ $z=12(x-\mathrm{y})$

(x’+yつ $z+x\mathrm{y}(z+1)+\mathrm{t}1/13$ ) (x’+yつ $=1:15$

答は、$x\mathrm{y}=0:10$を求めることにより正解
$x=0;30$ $\mathrm{y}=0:20$を得ている.
計算の過程は次のようである.

$(\mathrm{x}^{2}+\mathrm{y}^{2}=(\mathrm{x}-\mathrm{y})2+2\mathrm{x}\mathrm{y})$

13 $(\chi-\mathrm{y})2\mathrm{z}+13\cdot 3\mathrm{x}\mathrm{y}\mathrm{z}+13\mathrm{x}\mathrm{y}+2\mathrm{x}\mathrm{y}=16:15-(\mathrm{x}-\mathrm{y})2$

$=16:15-0\cdot$. $1,40$

$=16:13,20$
$\mathrm{z}=12\cdot(\mathrm{x}-\mathrm{y})=12\cdot 0\cdot$. $10=0j5\cdot 6=0;30$

13 $(\mathrm{x}-\mathrm{y})2+\mathrm{t}13\cdot 3+13\cdot 0:30+2\cdot 0:30)\mathrm{x}\mathrm{y}=8:6,40$

$\mathrm{t}\mathrm{l}3\cdot 3+13\cdot 0:30+2\cdot 0j30)\mathrm{x}\mathrm{y}=8$:6*40-13 $(\mathrm{x}-\mathrm{y})2$

$=8:6,40-0:21,40$
$=7:45$

$\mathrm{t}39+6:30+1)\mathrm{x}\mathrm{y}=7;45$

46 ; $30\mathrm{x}\mathrm{y}=7\cdot;45$

$\mathrm{x}\mathrm{y}=0\cdot,$ $10$ ( $\mathrm{t}\mathrm{r}$ ial and error)

Xy+o=\sim ;=(【L+2ri)* $=0:10+\mathrm{O}j\mathrm{O},$ $25=0:10,25$
$\mathrm{x}\neq^{+}=0:25$

$\mathrm{x}=^{\mathrm{x}+}\mathrm{z}^{\mathrm{I}\approx_{2}^{-\mathrm{B}}}+=0:25+0j5=0:30$

y=X+2ヱー Xニ $=0:25-0j5=0j20$ .
わずかに残された問題文より、この方程式は、運河とその拡張に関係してぃる
と思われる。実際、 “私は、穴を掘っ た’ $u2$回... ’ $u$大きな穴の面積’ $u$古
い運河の深さ’ $u$小さい (穴) ” などが確認できる. それは、どのようなも
のなのか ? 私は次の図のように推定する。
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$\mathrm{T}\mathrm{e}\mathrm{d}\iota\alpha \mathrm{d}\mathrm{o}\mathrm{w}\mathrm{e}\mathrm{A}$ � $\propto \mathrm{i}\mathrm{s}\ \mathrm{e}_{\mathrm{f}^{\mathrm{e}r}}\psi 1$ k\‘ug $\mathrm{u}_{\alpha r\iota}\mathrm{u}\mu_{\mathrm{t}\mathrm{o}[] n}$

$\sigma \mathrm{F}$ 侃 $\mathrm{C}\mathrm{k}’\mathfrak{n}a\mathrm{I}$ .
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Susa mathemat ical text No. 24

Transl $\mathrm{i}$ terat ion

Obverse

(The beginning of the tablet is lost.)

1. $[\cdots \ldots \ldots]$ -la9,22, 30 $[\cdots \ldots]$ i-lI

2. $[\cdots \ldots \ldots 2]4\mathrm{t}?)$ \‘u 2 aa-na-at

3. $[\cdots \ldots \ldots]$ sag(?) 2zi $\mathrm{a}$-t\‘a

4. $[\cdots \ldots \ldots]\cdots-\bullet a\mathrm{u}t15\mathrm{P}l^{-s^{I-ib\mathrm{u}8}}$

5. $[\cdots \ldots \ldots 3]0[a]-na9,22,30i-lI$-ma

6. [4, 41, 15 ta-aa] $r$ tu-Or-gza 45 $\mathrm{u}8$ a-na 2sag

7. [ $i-lI-na1,301$ a-na $\mathrm{E}9,212,30i-\mathrm{f}I--a14:3,45ta--ar$

8. [14:3, 45 a-l s\‘a-a] r-ru [14:13, 45 [ $a-\mathrm{f}\mathrm{f}\mathrm{l}$ a4, $\mathrm{E}4\mathrm{J}1,15$
$\mathrm{a}$-l\‘a

9. $[i-l_{\acute{l}}-\bullet a1,5.55],$ $4,41.15ta-\bullet ar$ re-[il-fl a li-ki-i 1

10. $[15 \pi a-s.I-ib\mathrm{u}ta-na2]$ sag $i-lI-\bullet a30\mathfrak{t}[a-\bullet ar30\mathrm{g}a-s$f-ih sag

11. [30 a-na 3 $i-\mathrm{n}\acute{\iota}$-ita[1], 30 ta-mar $[3]0$ i-na 1, $[30\mathrm{l}\mathrm{z}\mathrm{i}$

12. 1ta-mar 1 $\mathrm{a}-[na]9,22,30i-lI$ -ma9, 2 $\mathrm{E}2,301$ ta-mar

13. $al-lw\langle 1\rangle$ ki-ma $\mathrm{u}t$ qa-bu-ku 1 $\mathrm{a}$-r\’a [a-na 91, 22. [30 $\iota \mathrm{g}$

14. 1, 9, 22, 30 ta-mar 1[/2] 1, [9.2]2, 30 he-pe 34, 41, 15 $ta–ar$

15. 34, 41, 15 nigin 20:3, [13, 21, 313, 45 ta-mar

16. a-na 20:3, 13, 21, 33, [451 1, 5, 55, 4, 41, 15 dah
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17. 21:9, 8, 26, 15 $[ta-mar]m[i-n]$ $a$ \’ib-si35, 37, 30 lb-si

18. 34, 41, 15 ta-ki-i $[l-ta]-ka$ [a-na 315, 37, 30 dah

19. 1, 10:18, 45 ta-m[ar1 $r[i-na$ a-nal 14:3, 45

20. a-l s\‘a-ar-ri gar t\‘a $[$ 1, 10: $1]8,45$ i-na-ad-di-na

21. 5gar 5dagal an-ta 1/2 [5 he-pe 2, 30 ta-mar 2, 30 a-nal

22. 30 dirig dah. 3 ta-itar 3dagal $\mathrm{k}\mathrm{i}$-ta[igi 12 l\‘a dagal an-tal

23. $\mathrm{u}\mathrm{g}\mathrm{u}$ dagal ki-ta i-te-ru le-q[\’el 10 ta-mar [30 \‘u 10 ul-garl

24. 40 a-na 12 lu-up-li $i-l\acute{\iota}8$ ta-giar [5 dagal an-tal

Bottom

25. \‘u 3 dagal $\mathrm{k}\mathrm{i}$-ta ul-gar 8ta-itar [1/28 he-pe]

26. 4ta-mar 4a-na 8Nu-up-li $i-l\acute{\iota}$-[ma]

27. 32 ta-mar igi 32 $pu-t.t$-Or1, 5 $[2, 30 ta-rar]$

28. 1, 52, 30 a-na 24 sajar $i-1[\acute{\mathrm{J}}45$ ta-itar 45 ull

Reverse

30. za-e (?) $\ldots[\cdots$

31. $\acute{u}-l\grave{a}-p_{\acute{l}}-i[\mathit{1}]i\mathrm{t}?)-[na(?)$ ffi $a-la-ak-[ki-ir\ldots$

32. $2-\mathrm{k}\mathrm{a}\mathrm{n}$ ta-a[dJ-di-in 2-tu $[\cdots.\cdots$

33. a-l ka-la-ak-ki gal $\mathrm{u}\mathrm{l}-[\mathrm{g}\mathrm{a}\mathrm{r}\ldots$

34. a-na t\‘un l\‘a a-ta-ap $pg-[n]\epsilon-n[i\mathrm{r}$ da $[\mathfrak{g}\ldots$

35. $\mathit{8}^{-}11\mathit{8}$ $\mathrm{t}\mathrm{u}\mathrm{r}$ $al-l[u-u]\mathit{1}$ ul-gar sajar $\ldots[\cdots\ldots 1,151$
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36. za-e 1, 15 $\mathrm{u}1$ -gar $\partial^{-}n\mathrm{a}13$ l\‘a-[ls-l\’e-ra-t] $ii-l_{\acute{l}}--\mathrm{a}$ l, [15]

37. 10 l\‘a ka-la-ah-ku $\mathrm{u}\mathrm{g}\mathrm{u}$ ka-la-a[k-ki $i-t$] e-ru nigin 1, 40 ta-mar

38. 1, 40 i-na 16, 15 zi 16, [13, 201 ta-mar igi 10 dirig $pu-\iota \mathrm{r}-lr$

39. 6ta-mar igi 12 $lu-up-lipu-\iota\pi$-Or5ta-mar 5a-na 6i-If

40. 30 ta-mar 30 ta-lu-kn 30 ta-lu-ka a-na 16, 13, 20 i-lI-ma

41. 8, 6, 40 ta-mar 10 [dirl $\mathrm{i}\mathrm{g}$ nigin 1, 40 ta-mar 1, 40 a-na 13 l\‘a-la-l\’e-ra-ti

42. $i-lI–a21,$ [$40$ ta-marl 21, 40 i-na 8, 6, 40 xi

43. 7, 45 tx-[-ar re-i $\zeta-\mathrm{f}\mathrm{l}$ a li-ki-i 13[0 $ta-lu-\mathrm{E}a$

44. a-na 13 [l\‘a-la-l\’e-ra-til $i-lI6,30\mathfrak{t}[a--ar30l]$ a-lu-ka

45. a-na $ka-aiia–*$-[ni]2tab-ba 1ta-mar 1a-na 6, 30 $\mathrm{n}\mathrm{r}$

46. [7], 30 ta-mar 1[3 l\‘a-l]g-a\succ l\’e-ra-ti a-na $3-lu$ a-na ka-aiia-ma-ni

47. a-li-ik-aa $3[9]$ ta-mar 7, 30 a-na 39 $\mathfrak{n}\mathrm{r}46,30$ ta-mar

48. mi-na a-na 46, 30 gar l\‘a 7, 45 l\‘a $r[e-i\mathrm{f}\mathrm{l}-ka$ O-ki-il-lu

49. [ $i-\mathrm{f}\mathrm{f}\mathrm{i}a-ad-di-na[10]$ gar $re-il-ka$ li-Ai-il 1/2 10 dirig $\mathfrak{g}e-pe$

50. [5 ta]-$\bullet$ar $[$5 (?) $\mathrm{g}\mathrm{a}\mathrm{r}$ (?) $]$ 5nigin 25 ta-mar 25 a-na 10

51. [l\‘a $re-il-kaff-ki-il-lu$] dah 10, 25 ta-mar mi-na 1 $\mathrm{h}\mathrm{s}\mathrm{i}$

52. [25 fb-si 25(?) gart?)l 5 a-na 25 il-te-en $\mathrm{d}\mathrm{a}\mathrm{Q}30$ ta-mar

53. [i-na 25 $2-\mathrm{k}\mathrm{a}$ zi 20 $t1$ a-mar 30 gal 20 tur

54. $[\cdots\ldots\ldots]2-\mathrm{k}\mathrm{m}$ l\‘a 1 $\mathrm{p}\mathrm{a}_{5}\mathrm{I}\mathrm{G}(?)$

55. $[\cdots\ldots\ldots]\ldots$ 臥
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Translation

Obverse

1. $[\cdots\ldots\ldots]$ , and 9;22, 30. Multiply $[\cdots\ldots]$

2. $[\cdots\ldots\ldots 2]4,0$ (is the volume(?)), and 0;2 is the ratio (of the width to the

length).

3. $[\cdots\ldots\ldots]$ width(?), subtract 0;2(?), and the area.

4. $[\cdots\ldots\ldots]\ldots$ , and the length. 15, the one which is to be added to the

length,

5. $[\cdots\ldots\ldots]$ . Mul $\mathrm{t}$ iply [0; 3] 0 [$\mathrm{b}1\mathrm{y}9j22,30$, and

6, 7. [you see 4;41, 151. Return, and [multiplyl 45, the length, by 0;2 of (the

ratio of) the width (to the length), [and (you see) 1;30]. Nultiply

(1; 30) by [9; 2] 2, 30, and you see 14;3, 45.

8, 9. [14;3, 45 is the fallse [areal. [Multiply 141 ;3, 45 $[\mathrm{b}]\mathrm{y}4;[4]1,15$ , the

area, [andl you see [1, 5;551,4, 41, 15. Let you[ $\mathrm{r}$ hel ad hold (it).

10. MUltiply [15, the one which is to be added to the length, by $0j2$] of (the

ratio of) the width (to the length), and $\mathrm{y}[\mathrm{o}\mathrm{u}$ seel 0;30. [0;30] is the

one which is subtracted from the width.

11. [Multipl ly [0;30 by 31, and you see $[1];30$. Subtract [0;3]0 $\dot{\mathrm{f}}$ron 1;[30],

(and)

12. you see 1. Multiply 1 $\mathrm{b}[\mathrm{y}]9;22,30$, and you see 9;2 $[2, 30]$ .
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13. Since $\langle 1, 0\rangle$ as the length is said to you, [addl 1, 0, the factor, [to

91:22, [301, (and)

14. you see 1, $9j22,30$. Halve 1, [$9j212,30$, (and) you see 34:41, 15.

15. Square 34.,41; 15, (and) you see 20, 3; $[13, 21, 3]3,45$.

16. Add 1, 5:55, 4. 41, 15 to 20, 3; 13, 21, 33, 45, (and)

17. [you seel 21, $9j8,26,15$. $\mathrm{W}[\mathrm{h}\mathrm{a}]\mathrm{t}$ is the square root ?35:37, 30 is the

square root.

18. Add 34:41, 15 which was used in your squaring [to $3$] $5j37,30$, (and)

19, 20. you $\mathrm{s}$ [eel 1, $10j18,45$. $\mathrm{W}[\mathrm{h}\mathrm{a}\mathrm{t}]$ should Iput down [tol 14:3, 45, the false

area, which will give we [1, 10: 118, 45 ?

21. Put down 5. 5is the upper breadtL [Halve 5, (and) you see 2:301.

22. Add [2;30 tol $0j30$, the excess, (and) you see 3. 3is the lover breadtL

23. Tak[e 1/12 of the amount by which the upper breadthl exceeded the lower

breadth, (and) you see 0 $\cdot$, 10: [Ad40:30 and $0j10$ togetherl.

$2\mathrm{A}$ Multiply 0:40 by 12 of the (constant of the) dePtL (and) you see 8.

25. Add together [5, the upper breadthl, and 3, the lower breadth, (and) you

see 8. OIalve 8, (an4) $]$

26. you see A $\mathrm{U}\mathrm{u}1\mathfrak{l}$ iply 4 by 8of the depth, [andl

27. you see 32. Make the reciprocal of 32, (and) [you seel 0; 1, 5 $[2, 30]$ .

28. Iulti [plyl $0j1$ ,52*30 by 24, 0, the voluiw, [(and) you see 45. 45 is the
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lengthl.

Reverse

30. You (?). $\cdots[\cdots$

31. $[\cdots\ldots]$ Iexcavated. I $[\mathrm{n}(?)]$ the $\mathrm{h}\mathrm{o}1[\mathrm{e}\ldots\ldots$

32. you gave the second $[\cdots\ldots]$ . Asecond time $[\cdots\ldots$

33. I $\mathrm{a}\mathrm{d}[\mathrm{d}\mathrm{e}\mathrm{d}\ldots\ldots$ andl the area of the large hole together $[\cdots\ldots$

34. Iadd $[\mathrm{e}\mathrm{d}\ldots\ldots]$ to the depth of the for [merl canal $[\cdots\ldots$

35. Icut [off $\ldots\ldots$ ] for the small. The sum of the volume [and –is 1;151.

36. You. Multiply 1;15, the sum, by 13 of one thir[teenthl, and (you see)

$16j[15]$ .

37. Square 0; 10, the amount by which (the length of) the (large) $\mathrm{h}\mathrm{o}$ [le $\mathrm{e}\mathrm{x}$] ceeded

(the length of) the (small) hole, (and) you see 0;1, 40.

38. Subtract 0; 1, 40 from 16; 15, (and) you see 16; $[13, 20]$ . Make the reciprocal

of 0; 10* the excess,

39. (and) you see 6. Nake the reciprocal of 12 of the depth, (and) you see

0;5. Nultiply $0j5$ by 6,

40. (and) you see 0;30. 0;30 is the product. Nultiply 0;30, the prOduct, by

16; 13, 20, and

41. you see 8;6,40. Square 0;10, [the exlcess, (and) you see 0;1,40. Nultiply

0; 1, 40 by 13 of one thirteenth,
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42. and [you seel $0j21,$ [$401$ . Subtract 0;21, 40 from 8;6, 40, (and)

43. you [seel 7 $\cdot.45$. Let $\mathrm{y}\mathrm{o}[\mathrm{u}\mathrm{r}$ headl hold $\mathrm{t}\mathrm{i}\mathrm{t}$ ).

$4\mathrm{A}$ Multiply 0:3[0, the producl $\mathrm{t}$ , by 13 [of one thirteenthl, (and) $\mathrm{y}0[\mathrm{u}$ seel

6;30.

45. Uultiply [$\mathrm{O}j30$, thle product, by norm[all (number) 2, (and) you see 1. Add

1to 6 $j30$, (and)

46. you see $[7]:30$. Multiply 1[3 of one $\mathrm{t}\mathrm{h}\mathrm{l}$ irteenth, by 3, by normal (umber

three),

47. and you see $3[9]$ . Add 7:30 to 39, (and) you see 46:30.

48. What should Iput to 46;30 which gives we 7:45 that your $\mathrm{h}[\mathrm{e}\mathrm{a}\mathrm{d}]$ held ?

49. Put down [0:101. Let your head hold (it). Balve 0;10, the excess, (and)

50. [youl see [0:5. Put down $0:5\mathrm{t}?).$ ] Square 0:5, (and) you see 0,$\cdot$ 0, 25.

51. Add 0:0, 25 to 0 $\cdot$, 10 [that your head heldl, (and) you see 0 $\cdot$. 10, 25. What is

the square root ?

52. [0:25 is the square root. Put down 0:25(?).] On the one hand add 0.,5 to

0 $j25$, (and) you see 0:30,

53. [on the other hand subtract $\mathrm{t}0;5$) from $0\cdot,25$ , (and) ylou see [$0j201.$ 0:30

is the large, (and) 0,$\cdot$ 20 is the small.

54. $[\cdots\ldots\ldots]$ the second $\ldots$ that of one canal $\ldots$ .

55. $[\cdots\ldots\ldots]\ldots\ldots$ .
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